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• कृपया जााँच कर िें स्क इस प्रश् न-पत्र में मसु्िि पषृ्ठ 15 हैं ।  

• प्रश् न-पत्र में दास्हने हार्थ की ओर स्दए गए प्रश् न-पत्र कोड को परीक्षार्थी उत्तर-पसु्तिका के मुख-पषृ्ठ पर स्िखें । 
• कृपया जााँच कर िें स्क इस प्रश् न-पत्र में 21 प्रश् न हैं । 
• कृपया प्रश् न का उत्तर लिखना शुरू करने से पहिे, उत्तर-पुलतिका में यथा तथान पर प्रश् न का 

क्रमाांक अवश्य लिखें । 
• इस प्रश् न-पत्र को पढ़ने के स्िए 15 स्मनट का समय स्दया गया ह ै । प्रश् न-पत्र का स्विरण पवूााह्न में  

10.15 बजे स्कया जाएगा । 10.15 बजे से 10.30 बजे िक परीक्षार्थी केवि प्रश् न-पत्र को पढ़ेंगे और इस 

अवस्ि के दौरान वे उत्तर-पसु्तिका पर कोई उत्तर नहीं स्िखेंगे । 
• Please check that this question paper contains 15 printed pages. 

• Q.P. Code given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

• Please check that this question paper contains 21 questions. 

• Please write down the Serial Number of the question in the answer-book 

at the given place before attempting it. 

• 15 minute time has been allotted to read this question paper. The question 
paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

candidates will read the question paper only and will not write any answer 

on the answer-book during this period.  
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 सामान्य लनर्देश : 

(i) कृपयध निर्दशेों को ध्यधि से पढ़ें ।  

(ii) इस प्रश् ि-पत्र म़ें र्दो खण्डों म़ें 21 प्रश् ि हैं : खण्ड क औि खण्ड ख ।  

(iii) खण्ड क म़ें वस्तनुिष्ठ प्रकधि के प्रश् ि हैं जबनक खण्ड ख म़ें नवषयपिक प्रकधि के प्रश् ि हैं ।   

(iv) नर्दए गए (5 + 16) = 21 प्रश् िों म़ें से, उम्मीर्दवधि को 2 घंटे के आबंनटत (अनर्कतम) समय म़ें  

(5 + 10) = 15  प्रश् िों के उत्ति र्दिेे हैं ।  

(v) नकसी नवशेष खण्ड के सभी प्रश् िों को सही क्रम म़ें कििे कध प्रयधस नकयध जधिध चधनहए ।  

(vi) खण्ड क : वस्तनुिष्ठ प्रकधि के प्रश् ि ( 24 अंक) :  

 (a) इस खण्ड म़ें 5 प्रश् ि हैं ।  

 (b) कोई िकधिधत्मक अंकि िहीं है ।  

 (c) नर्दए गए निर्दशेों के अिसुधि कीनजए ।  

 (d) प्रत्येक प्रश् ि/भधग के सधमिे आबंनटत अंकों कध उल्लेख नकयध गयध ह ै।  

(vii) खण् ड ख : नवषयपिक प्रकधि के प्रश् ि (26 अंक) : 

 (a) इस खण् ड म़ें 16 प्रश् ि हैं ।    

 (b) उम् मीर्दवधि को 10 प्रश् ि कििे हैं । 

 (c) नर्दए गए निर्दशेों के अिसुधि कीनजए । 

 (d) प्रत् येक प्रश् ि/भधग के सधमिे आबंनटत अंकों कध उल् लेख नकयध गयध ह ै। 

खण्ड क  $ 

(वस्तुननष्ठ प्रकार के प्रश् न) (24 अंक) 

1. रोज़गार कौशि पर स्दए गए 6 प्रश् नों में से स्कन्हीं 4 के उत्तर दीस्जए । 41=4 

(i) स्नम् नस्िस्खि में से कौन-सा डेटा को चोरी और वायरस से बचाने का उपाय नहीं ह ै?  

(A) अपने कंप् यटूर में िॉस्गन करने के स्िए पासवडा का उपयोग करना   

(B) एंटीवायरस और फायरवॉि त र्थास्पि करना  $  

(C) डेटा एस्न्िप् ट करना   

(D) फाइिों को Ctrl + S से सरुस्क्षि करना  
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General Instructions :  

(i) Please read the instructions carefully.  

(ii) This question paper consists of 21 questions in two Sections : Section A 

and Section B.  

(iii) Section A has Objective type questions, whereas Section B contains 

Subjective type questions.  

(iv) Out of the given (5 + 16) = 21 questions, a candidate has to answer  

(5 + 10) = 15 questions in the allotted (maximum) time of 2 hours.  

(v) All questions of a particular section must be attempted in the correct 

order. 

(vi) Section A  : Objective Type Questions (24 marks) :  

(a) This section has 5 questions.  

(b) There is no negative marking.  

(c) Do as per the instructions given.  

(d) Marks allotted are mentioned against each question/part.  

(vii) Section B : Subjective Type Questions (26 marks) :  

(a) This section has 16 questions.  

(b) A candidate has to do 10 questions.  

(c) Do as per the instructions given.  

(d) Marks allotted are mentioned against each question/part. 

SECTION A 

  (Objective Type Questions) (24 marks)        

1. Answer any 4 out of the given 6 questions on Employability Skills.  41=4 

(i)  Which one of the following is not a measure to protect data from 

theft and viruses ? 

(A) Use password to log-in to your computer    

(B) Install antivirus and firewall    

(C) Encrypt data      

(D) Save files with Ctrl + S    



 

95 Page 4 of 15 # 

(ii)  स्नम् नस्िस्खि में से कौन-सा िनाव का संकेि नहीं ह ै?  
(A) आत् मस्वश् वास  (B) घबराहट   

(C) पसीने से िर हर्थेस्ियााँ  (D) शषु् क मुाँह  

(iii)  स्कसी अत पिाि में कायारि डॉक् टर वेिन-रोज़गार के अंिगाि आिा ह ै। (सत् य या असत् य)  

(iv)  ई-कचरा प्रबंिन क् यों महत्त् वपणूा ह ै?   

(v)  स्नम् नस्िस्खि में से कौन-सी प्रभावी संचार की बािा नहीं ह ै?  

(A) भौस्िक बािा  (B) भाषाई बािा  
(C) पारत पररक (अंिवैयस्िक)  बािा  (D) प्रस्िस्िया  

(vi)  स्कसी व् यस्ि की चेहरे की अस्भव् यस्ि ____________ व् यक् ि नहीं कर सकिी ।    

(A) खशुी  (B) मािभृाषा  

(C) डर  (D) िोि   

2. स्दए गए 6 प्रश् नों में से स्कन् हीं 5 के उत्तर दीस्जए । 51=5 

(i)  ग़िि कर्थन ढूाँस्ढ़ ए / पहचास्नए ।    

(A) बायोगैस एक गैर-नवीकरणीय संसािन ह ै।     

(B) बायोगैस का उत् पादन काबास्नक पदार्थों के अपघटन से होिा है ।   

(C) बायोगैस में मुख् यि: CH4 होिा ह ै।    

(D) ग्रामीण क्षेत्रों में बायोगैस ऊजाा का एक उत् कृष् ट स्रोि ह ै।   

(ii)  स्नम् नस्िस्खि में से कौन-सी व् यावसास्यक फसि नहीं ह ै?  

(A) चाय      (B) गन्ना 

(C) कॉफी      (D) बरसीम    

(iii)  स्नम् नस्िस्खि में से कौन-सा फू्रट बटर िैयार करन ेके स्िए उपयकु् ि नहीं ह ै?  

(A) खबुानी    

(B) आिबूखुारा  

(C) आड़ू    

(D) अनार   
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(ii)  Which one of the following is not a sign of stress ? 

(A) Confidence     (B) Nervousness  

(C) Sweaty palms  (D) Dry mouth  

(iii)  A doctor working in a hospital comes under wage employment. 

                                                                                         (True or False)  

(iv)  Why is E-waste management important ? 

(v)  Which one of the following is not a barrier to effective 

communication ?    

(A) Physical barrier     (B) Linguistic barrier      

(C) Interpersonal barrier     (D) Feedback    

(vi)  Facial expressions cannot express an individual’s ____________.   

(A) Happiness       (B) Mother tongue   
(C) Fear     (D) Anger     

2. Answer any 5 out of the given 6 questions.  51=5 

(i)  Find the incorrect statement.  

(A) Biogas is a non-renewable resource.      
(B) Biogas is produced by decomposition of organic matter.     
(C) Biogas mainly consists of CH4.  
(D) Biogas is an excellent source of energy in rural areas.    

(ii)  Which of the following is not a commercial crop ? 
(A) Tea  (B) Sugarcane   
(C) Coffee  (D) Berseem    

(iii)  Which one of the following is not suitable for preparation of fruit 

butter ? 

(A) Apricot      

(B) Plum    

(C) Peach     

(D) Pomegranate 
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(iv)  दिू एक पयत य ह ै:  
(A) पानी में िेि का       (B) िेि में िेि का          
(C) िेि में पानी का           (D) पानी में पानी का       

(v)  उभयस्िंगी फूिों (bisexual flowers) के बारे में स्नम् नस्िस्खि में से कौन-सा कर्थन सत् य  

ह ै? 

(A) इनमें केवि पुंकेसर होिे हैं ।   

(B) इनमें केवि त त्रीकेसर होिे हैं ।   

(C) इनमें पुंकेसर और त त्रीकेसर दोनों होिे हैं ।    

(D) इनमें केवि पर-परागण होिा है ।    

(vi)  राइज़ोस्बयम एक मदृा जस्नि ____________ ह ै।     
(A) कवक  (B) नेमाटोड  
(C) बैक् टीररया  (D) प्रोटोज़ोआ   

3. स्दए गए 6 प्रश् नों में से स्कन् हीं 5 के उत्तर दीस्जए । 51=5 

(i)  बरसीम का प्रयोग मखु् यि: ____________ के रूप में स्कया जािा ह ै।  
(A) अनाज   
(B) चारा  

(C) जैव ईिंन   

(D) जैव-कीटनाशक   

(ii)  माइकोराइज़ा ____________ के बीच एक पारत पररक संबंि ह ै। 
(A) राइज़ोस्बयम के सार्थ फिीदार पौिे की जड    
(B) शैवाि और कवक   
(C) उच् च पौि ेकी जडें और कवक    
(D) राइज़ोस्बयम के सार्थ गैर-फिीदार पौिे की जड  

(iii)  परागण के संबंि में स्नम् नस्िस्खि में से कौन-सा कर्थन सत् य ह ै?        
(A) परागण परागकोश से पराग का स्नकिना ह ै।  
(B) यह अंडे के सार्थ पराग का संियन ह ै।   
(C) यह फूि के वस्िाकाग्र पर पराग का त र्थानांिरण ह ै।     

(D) यह फूि के परागकोशों में अंडे का त र्थानांिरण ह ै।   
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(iv)  Milk is an emulsion of :   

(A) Oil in water     (B) Oil in oil       
(C) Water in oil        (D) Water in water      

(v)  Which one of the following statements is true about bisexual  

flowers ? 

(A) They contain only stamen.       

(B) They contain only pistil.      

(C) They contain both stamen and pistil.       

(D) Only cross-pollination occurs.    

(vi)  Rhizobium is a soil borne ____________. 

(A) Fungi     (B) Nematode      

(C) Bacteria      (D) Protozoa   

3. Answer any 5 out of the given 6 questions.  51=5 

(i)  Berseem is mainly used as  

(A) Grain    

(B) Fodder     

(C) Biofuel       

(D) Bio-pesticide   

(ii)  Mycorrhiza is a mutualistic association between ____________ .      

(A) Legume plant root with Rhizobium    

(B) Algae and fungi    

(C) Higher plant roots and fungi      

(D) Non-legume plant root with Rhizobium     

(iii)  Which of the following statements is true about pollination ?    

(A) Pollination is the release of pollen from the anther.    

(B) It is the fusion of pollen with egg.  

(C) It is the transfer of pollen to the stigma of the flower.    

(D) It is the transfer of egg to the anther of the flower.   
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(iv)  एबेलमोस् कस एस् कुल़ेंटस ____________ का वैज्ञास्नक नाम ह ै।            
(A) स्भंडी  (B) सेब  

(C) टमाटर  (D) पत्ता गोभी  

(v)  भैंस के दिू में पानी का प्रस्िशि इनके बीच होिा ह ै:      

(A) 20 – 30% (B) 40 – 50%  
(C) 60 – 70%  (D) 80 – 90%  

(vi)  स्नम् नस्िस्खि में से कौन-सी फसि बल् बों द्वारा प्रवस्िाि की जािी ह ै?           

(A) गिुाब  (B) रजनीगंिा  

(C) गेंदा  (D) केिा 

4. स्दए गए 6 प्रश् नों में से स्कन् हीं 5 के उत्तर दीस्जए । 51=5 

(i)  दिू के पात चरुीकरण का उद्दशे् य ह ै:            

(A) दिू में वसा % बढ़ाना   

(B) दिू में मौजदू हास्नकारक रोगजनकों को मारना  

(C) दिू का त वाद और रंग बढ़ाना 

(D) दिू की शेल् फ िाइफ को कम करना 

(ii)  अमचरू और अनारदाना हैं :             

(A) स्कस्ववि फि पेय  (B) फिों के सखेू उत् पाद  

(C) फिों के रस का सांिण  (D) मरुब् बा  

(iii)  िीफ रत ट, िजू त मट एवं करनाि बंट रोग स्कस फसि से संबंस्िि हैं ?            

(A) िान  

(B) गेह ाँ   

(C) कपास   

(D) मक् का   

(iv)  दोहरे स्नषेचन के दौरान एक नर नास्भ क और दो ध्रवुीय नास्भ कों का संियन कहिािा ह ै:              

(A) दोहरा संियन  (B) स्त्रसंियन  

(C) सही स्सनगैमी (संयगु् मन)  (D) यगु् मनज संियन  
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(iv)  Abelmoschus esculentus is the scientific name of      

(A) Okra   (B) Apple    

(C) Tomato   (D) Cabbage  

(v)  The percentage of water in buffalo milk ranges between  

(A) 20 – 30%  (B) 40 – 50%   

(C) 60 – 70%  (D) 80 – 90%  

(vi)  Which of the following crop is propagated by bulbs ? 

(A) Rose   (B) Tuberose     

(C) Marigold   (D) Banana   

4. Answer any 5 out of the given 6 questions.  51=5 

(i)  The objective of pasteurisation of milk is to  

(A) Increase fat % in milk       

(B) Kill harmful pathogens present in milk      

(C) Increase the taste and colour of milk   

(D) Decrease the shelf-life of milk    

(ii)  Amchur and Anardana are   

(A) Fermented fruit beverages  (B) Dried products of fruits      

(C) Fruit juice concentrates   (D) Murabba      

(iii)  Leaf rust, Loose smut and Karnal bunt diseases are related to which 

crop ? 
(A) Paddy   
(B) Wheat    

(C) Cotton       
(D) Maize    

(iv)  Fusion of one male nucleus and two polar nuclei during double 

fertilization is called 

(A) Double fusion       (B) Triple fusion       
(C) True syngamy    (D) Zygote fusion      
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(v)  ग़िि जोडी ढूाँस्ढ़ ए (फि का नाम: वैज्ञास्नक नाम) :            

(A) मंदाररन: सधइट्रस ऑि़ेंनटफोनलयध   

(B) अंगरू: सधइट्रस पैिधनडसी  

(C) मीठा संिरा: सधइट्रस सधइि़ेंनसस    

(D) नींब:ू सधइट्रस लेमि  

(vi)  दिू या िीम में वसा के प्रस्िशि को वांस्िि मानक िक बढ़ाने या घटाने की प्रस्िया को कहा 
जािा ह ै:   

(A) संविान   

(B) समरूपीकरण   

(C) सदुृढ़ीकरण (फोस्टास्फकेशन)  

(D) मानकीकरण (Standardisation) 

5. स्दए गए 6 प्रश् नों में से स्कन् हीं 5 के उत्तर दीस्जए । 51=5 

(i)  दही को दिू से इनोकुिम स्मिाकर प्राप् ि स्कया जािा ह ैस्जसमें शास्मि ह ै:     

(A) मैर्थेनोजेन (B) कवक  

(C) िैस्क्टक एस्सड बैक् टीररया  (D) ख़मीर   

(ii)  स्नम् नस्िस्खि में से कौन-सी मुख् यि: स्ििहनी फसि के रूप में उगाई जािी ह ै?  

(A) उडद  (B) सोयाबीन  

(C) मूाँग  (D) राजमा  

(iii)  स्नम् नस्िस्खि में से कौन-सा उत् पाद मिमुक् खी पािन से प्राप् ि नहीं होिा ह ै?    

(A) शहद  (B) रॉयि जैम (मरुब्बा)  

(C) रॉयि जेिी  (D) मिमुक् खी मोम  

(iv)  स्नम् नस्िस्खि में से कौन-सा पुंकेसर का एक भाग ह ै? 

(A) परागकोश  (B) अंडाशय  

(C) शैिी (D) स्तटग् मा  

(v)  स्नम् नस्िस्खि में से कौन-सी फसि फाइबर के सार्थ-सार्थ िेि भी दिेी ह ै?   

(A) सोयाबीन  (B) जटू  

(C) कपास  (D) मूाँगफिी 
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(v)  Find the incorrect pair (Fruit name : Scientific name) : 

(A) Mandarin : Citrus aurantifolia      

(B) Grapefruit : Citrus paradisi   

(C) Sweet orange : Citrus sinensis       

(D) Lemon : Citrus limon    

(vi)  The process of raising or lowering the percent of fat in milk or cream 

to a desired standard is called  

(A) Enrichment         

(B) Homogenization        

(C) Fortification        

(D) Standardisation      

5. Answer any 5 out of the given 6 questions.  51=5 

(i) Dahi is obtained from milk by adding inoculum consisting of    

(A) Methanogens  (B) Fungi  

(C) Lactic acid bacteria       (D) Yeast  

(ii) Which of the following is mainly grown as an oilseed crop ? 

(A) Urd bean   (B) Soyabean   

(C) Mung bean        (D) Kidney bean   

(iii) Which of the following product is not obtained from Apiculture ? 

(A) Honey   (B) Royal jam (Murabba) 

(C) Royal jelly  (D) Bees wax  

(iv) Which of the following is a part of stamen ? 

(A) Anther     (B) Ovary        

(C) Style     (D) Stigma  

(v) Which of the following crop gives fibre as well as oil ? 

(A) Soyabean     (B) Jute        

(C) Cotton     (D) Groundnut  
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(vi)  नाररयि का प्रविान स्कया जािा ह ै:    

(A) बीज से  (B) वाय ुपरि से   

(C) बसु्ल्बि से   (D) कस्टंग से  

खण् ड ख  
(नवषयपरक प्रकार के प्रश् न)   (26 अंक) 

 

िोज़गधि कौशल पि नर्दए गए 5 प्रश् िों म़ें से नकन् हीं 3 के उत्ति 20 – 30 शब् र्दों (प्रत् येक) म़ें र्दीनजए । 32=6  

6. िक्ष् य और िक्ष् य स्निाारण क् या ह ै? 

7. प्रभावी संचार में भौस्िक बािाओ ंकी व् याख् या कीस्जए ।   

8. एक उद्यमी के कोई दो काया स्िस्खए ।    

9. सिि ्स्वकास िक्ष् यों को प्राप् ि करने के स्िए दीघाकास्िक शहर और समदुाय कैसे बनाए जा सकिे हैं ?   

10. (a)  कंप् यटूर के अनास्िकृि उपयोग को कैसे रोका जा सकिा ह ै? (एक कारण) 

  (b) यस्द माउस का पॉइटंर स्कसी चयस्नि फाइि पर हो और िरंुि बाएाँ माउस बटन को दो बार 

स्क्िक स्कया जाए िो क् या होगा ? 

नर्दए गए 6 प्रश् िों म़ें से नकन् हीं 4 के उत्ति 20 – 30 शब् र्दों (प्रत् येक) म़ें र्दीनजए । 42=8 

11. आम के प्रमखु शारीररक स्वकारों की सचूी बनाइए ।   

12. मिमुस्क्खयों से प्राप् ि चार उत् पादों की सचूी बनाइए ।    

13. स्नम् नस्िस्खि फसिों की बीज दर स्िस्खए :  

(a) गन् ना    

(b) कािा चना (खरीफ ॠि)ु  

14. दिू की संरचना (संघटन) के बारे में वणान कीस्जए ।  

15. उभयस्िंगीय और एकस्िंगीय फूिों में क् या अंिर ह ै? 
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(vi) Coconut is propagated from : 

(A) Seeds      (B) Air layering        

(C) Bulbils     (D) Cutting  

SECTION B 

  (Subjective Type Questions) (26 marks) 

Answer any 3 out of the given 5 questions on Employability Skills in 20 – 30 

words each.    32=6 

6. What is goal and goal setting ? 

7. Explain the physical barriers to effective communication.  

8. Write any two functions of an entrepreneur.  

9. How can sustainable cities and communities be created for achieving 

sustainable development goals ?  

10. (a) How can unauthorised use of computers be prevented ? (one reason)  

        (b) What will happen if the mouse pointer is placed on a selected file and 

the left mouse button is double clicked quickly ? 

Answer any 4 out of the given 6 questions in 20 – 30 words each.  42=8 

11. List the major physiological disorders of Mango.  

12. List four products obtained from honeybees.  

13. Write the seed rate of the following crops :  

  (a)  Sugarcane  

 (b)  Black gram (Kharif season)  

14. Describe the composition of milk.   

15. What are the differences between bisexual and unisexual flowers ? 
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16. स्नम् नस्िस्खि रोगों के कारक जीव स्िस्खए :  

(a) फाउि कोस्क्सस्डयोस्सस    

(b) दाद (ररंगवमा)  

नर्दए गए 5 प्रश् िों म़ें से नकन् हीं 3 के उत्ति 50 – 80 शब् र्दों (प्रत् येक) म़ें र्दीनजए । 34=12 

17. आम की खेिी का वणान स्नम् नस्िस्खि स्बन् दओु ंपर कीस्जए :   

(i) वैज्ञास्नक नाम (ii) दो व् यावसास्यक स्कत में 

(iii) प्रविान स्वस्ि  (iv) रोपण दरूी  

18. (a)  मगुीपािन में पाए जाने वाि ेदो सामान् य रोगों के नाम स्िस्खए ।   

 (b) मगुीपािन से प्राप् ि सह-उत् पाद (बाय-प्रोडक् ट्स) की सचूी बनाइए ।   

19. त व-परागण को बढ़ावा दनेे वािी स्ि यास्वस्ि का वणान कीस्जए ।      

20. पनीर बनाने के स्िए उद्योग त िर की प्रस्िया की व् याख् या कीस्जए । 

21. कॉफी पर स्नम् नस्िस्खि स्बंदओु ंके आिार पर संस्क्षप् ि स्टप् पणी स्िस्खए :  

(i) भारि में प्रमुख प्रजास्ियों की खेिी   

(ii) फिों का पकना  

(iii) चनुना    
(iv) अिग करना  
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16. Write the causal organism of the following diseases :   

  (a)  Fowl coccidiosis  

 (b)  Ringworm  

 

Answer any 3 out of the given 5 questions in 50 – 80 words each.  34=12 

17. Describe the cultivation of mango on the following points : 

 (i) Scientific name     (ii) Two commercial varieties        

 (iii) Propagation method      (iv) Planting distance   

18. (a)  Write the names of two common diseases found in poultry. 

 (b) List the by-products obtained from poultry.   

19. Describe the mechanism that favours self-pollination. 

20. Explain industry- level process for paneer making.  

21. Write short notes on coffee based on the following points : 

 (i) Major species cultivated in India       

 (ii) Fruit ripening       

 (iii) Picking       

 (iv) Stripping  

  

 


